S-C-8-1_Mass-Mole Conversions Worksheet and KEY

Name ________________________________________ Date ________________

Mass-Mole Conversions Worksheet

Molar mass of a substance = mass of one mole of the substance

One mole of an element = the atomic mass of that element (from the periodic table)
One mole of a compound = the sum of the atomic masses of the atoms present in the compound
The units of molar mass are always grams per mole (g/mol).
Directions: Solve each of the following problems. Show all work!
1. What is the mass of one mole of H?

2. What is the mass of one mole of Na?
3. What is the mass of one mole of H2O?
4. What is the mass of one mole of NaCl?

5. How many moles are in 36 g of H2O?
6. How many moles are in 22.5 g of H2O?
7. How many moles are in 2.00 g of NaCl?
8. How many moles are in 5.9 g of NaCl?
9. What is the mass of one mole of C2H6O (ethanol)?
10. How many moles are in 25.0 mL of C2H6O? The density of C2H6O is 0.785 g/mL.
(Hint: Use the formula: mass = density × volume.)
Mass-Mole Conversions Worksheet Answer KEY
Molar mass of a substance = mass of one mole of the substance

One mole of an element = the atomic mass of that element (from the periodic table)
One mole of a compound = the sum of the atomic masses of the atoms present in the compound
The units of molar mass are always grams per mole (g/mol).

Directions: Solve each of the following problems. Show all work!
1. What is the mass of one mole of H? 1.01 g
2. What is the mass of one mole of Na? 22.99 g
3. What is the mass of one mole of H2O? (1.01)(2) + 16.00 = 18.02 g
4. What is the mass of one mole of NaCl? 22.99 + 35.45 = 58.44 g
5. How many moles are in 36 g of H2O? 36 g H2O × 1 mol/18.02 g  = 2.00 mol H2O
6. How many moles are in 22.5 g of H2O? 22.5 g H2O × 1 mol/18.02 g = 1.25 mol H2O
7. How many moles are in 2.00 g of NaCl? 2.00 g NaCl × 1 mol/58.44 g = 0.03 mol NaCl
8. How many moles are in 5.9 g of NaCl? 5.9 g × 1 mol/58.44 g = 0.10 mol NaCl
9. What is the mass of one mole of C2H6O (ethanol)? 12.01)(2) + (1.01)(6) + 16.00 = 46.08 g
10. How many moles are in 25.0 mL of C2H6O? The density of C2H6O is 0.785 g/mL.
(Hint: Use the formula: mass = density × volume.)

25.0 mL × 0.785 g/mL = 19.6 g C2H6O

19.6 g C2H6O × 1 mol/46.08 g = 0.43 mol
